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5527 ﬂiﬁ H i‘fﬁ %i%fﬁ SH4EAR268 | SH4ESASIB | HF4E6H21 B | FFN4E7H268 | HF4E8H8H | SH4ESA30B | $F14410A258 | $F4E11 A158 | $H4E11A298 | SH5E1 A248 | SF5FE28 148 | £F55E28288
EKEZ — (51@1'”5) 9:26 9:25 10:15 9:58 10:05 10:15 10:05 10:10 10:05 9:38 10:15 10:10
KB °C =18 17.8 225 23.7 25.3 25.9 27.0 21.2 18.0 18.0 12.3 10.1 10.9
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mdsnmnce FiaH T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEIOLEEY  |me/L|  0.02 <0.001 <0.001 <0.001 <0.001
%ﬁ“/ 11}:’{?4# “BO ol 001 <0.001 <0.001 <0.001 <0.001
e me/L 0.6 0.07 0.08 0.05 <0.05
SO0 meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sonfkiLL meg/L|  0.06 0.022 0.026 0.020 0.009
CHOOEEE mg/L|  0.03 0.004 0.008 0.005 0.007
oJOE/O00A2>  |me/L 0.1 0.004 0.003 0.002 0.004
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
NUIN=EL D meg/L 0.1 0.036 0.039 0.031 0.021
) OOEEE: mg/L|  0.03 0.010 0.014 0.014 0.007
JOEo/O0A4> |mg/L|  0.03 0.010 0.010 0.009 0.008
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 0.004 0.004 0.003 0.003
FHEIRBRUVZDIEESY [me/L 1 0.006 0.006 0.005 0.005
4@17':’%"%—'7/"&”%0) me/l| 02 0.062 0.040 0.028 0.019
HEVZDIEEY meg/L 0.3 0.01 0.01 <0.01 <0.01
HEUVZDIEEY mg/L 1 0.004 0.003 0.003 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bt AA4> meg/L 200 21 23 21 15 12 12 11 11 10 18 20 17
AREZREY me/L 500 168 110 102 177
I AIY ng/L 10 2 <1 <1 <1 1 1 1 <1
2-AF LA YRILFA—IL Ing/L 10 <1 3 5 2 2 A 4 A
ﬁ fﬁic)%a()%f EEs meg/L 3 1.3 1.1 1.1 0.8 0.8 0.9 0.8 0.8 0.8 1.2 1.2 1.2
pHIE — | 58~86 75 7.5 7.4 7.3 7.3 7.3 7.3 7.4 7.5 7.4 7.3 7.4
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BREA4L| BER4L] 2Eial] EEal] mwal] ®Bxal| Bgal| BEwal
BER — [Bgonunce| BEgal| BEggl| BEEgl] Beggl| BRE4gL| BERalL] 2Eial] =mEal] mEal] =mxal| Bgal| BEwal
BE Ed 5 0.6 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
AE E 2 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
SR BIER mg/L| 01Kl E 0.7 0.6 0.5 0.6 0.5 0.4 0.5 05 0.6 0.5 0.5 0.5
e SHE B ot meg/L 20 7 6 5 8
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e e e _ —ﬁifiuft _ ~ B _
BEREGUTITER b,:l’;@gwk i 0.7 1.2 1.2 1.0
i)
HEFEHE 1&/ml 2000 1 0 0 0
z FILHE mg/L — 78 49 48 86
D ERmERE 1S/om — 266 299 272 191 155 155 141 150 137 236 286 236
ﬁﬁmwru»rz“p mg/L — 27 17 17 30
LNRBRIEE260) | — — 0.015 0.011 0.014 0.012 0.011 0.013 0.011 0.011 0.012 0.017 0.014 0.016




